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Worksheets
Worksheet 1

	 1.	 Add the following.

		  54,96,381 + 2,08,69,834

	  2.	 Add the following.

		  32,59,473 + 3,19,54,678 + 19,63,527

	 3.	 Add using the Lattice method.

		  4,39,689 + 2,57,896

	 4.	 Subtract 20,96,487 from 32,58,392.

	 5.	 A farmer grew 1,86,503 carrots in the year 2000. He grew 2,45,091 carrots in the 
year 2001. How many more carrots did he grow in 2001?

	 6.	 The population of a country in the year 2009 was 64,59,723. The next year it 
increased by 98,876. What was the population of the country in the year 2010?

	 7.	 Estimate the sum of 13,496 and 21,235 (nearest thousand).

	 8.	 Estimate the difference of 1,64,532 and 95,648 (nearest thousand).

	 9.	 Estimate the sum of 27,689 and 15,723 (nearest thousand).

	 10.	 Estimate the difference of 2,51,876 and 1,63,453 (nearest thousand).

Worksheet 2

	 1.	 Add the following: 3,98,21,045 +  74,99,586.

	 2.	 Add the following: 4,20,73,569 + 1,32,84,936 + 27,65,721.

	 3.	 Add using the Lattice method: 3,17,492 + 1,50,684.

	 4.	 Subtract 18,34,976 from 27,12,364.

	 5.	 Arun bought a house for ₹ 62,56,790 and spent ₹ 10,090 on repairing. He also 
spent ₹ 4,65,830 on furnishing. What was his total expenditure?

	 6.	 A hill station had 59,95,640 visitors in the month of March 2000 and 72,34,965 
visitors in the month of April 2000. How many more visitors came in the month of 
April than in the month of March?

	 7.	 Estimate the sum of 10,498 and 32,641 (nearest thousand).

	 8.	 Estimate the difference of 2,98,765 and 1,56,205 (nearest thousand).

	 9.	 Estimate the sum of 18,965 and 25,321 (nearest thousand).

	 10.	 Estimate the difference of 3,49,752 and 1,38,679 (nearest thousand).
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Answers to Worksheet 1
	 1.	 2,63,66,215	 2.	 3,71,77,678
	 3.	 6,97,585	 4.	 11,61,905
	 5.	 58,588	 6.	 65,58,599
	 7.	 34,000	 8.	 69,000
	 9.	 44,000	 10. 	 89,000

Answers to Worksheet 2
	 1.	 4,73,20,631	 2.	 5,81,24,226
	 3.	 4,68,176	 4.	 8,77,388
	 5.	 67,32,710	 6.	 12,39,325
	 7.	 43,000	 8.	 1,43,000
	 9.	 44,000	 10.	 2,11,000




